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Answer the following questions ;

ke emalkr e wie -

(@) Give the dimensional representation

(@)

(©

(@)

(¢)

22T-PHYS-BENG (N) 2

1x8=8

Resistance.

CAICHE At =0 |

Justify your answer.

(LT @5 T3 S 18 % 10719 ¢ 31w #
J 2 Tize Wl |

S ofa &,Jvcn transistor is 99. What is thd
value of & ?

9% GIARPTEIRR -ax ST 99 317 O o
i e st '

')

What is the maximum value of power~facto
and when does it occur ?

ST W7 9 Beon 7 T8 12 G T
2 BRow W TAET 5y o

reasons.

U=, CPTeraToter ST TR 05 (5) ol
(i) *[TORA | (1 6 1A e |

®

(h)

()

(©

S| 2T-PIHYS-BENG(N) 3

How are f-rays emitted from a nucleus ?
when it docs not contain electrons ?

G 7 76T MPs, NOFER Arw
A it [ 2 e

Wrile down the Biot-Savart’s Law in vector form.
-GS @b (SF w0el forca |

The frequency of ac. is doubled. How do
X, and X, get affected ?

A8 2l FIAT et o X, @9

- X9 M B @eE YRS 39 e

Draw the circuit diagram for the comparison of
em.f’s of two cells by a potentiometer. 2

iSRRI 315 catrem fvyesifive e we g

K G AR 9l 9ol €A foram o @) -
Define 1 fesla. Writc down the expression of
Lorentz force acting on a charged paricle. 2

G EHT A (e | 9 W i Yoica

faat @t siag I 2 ARG @

The magnetic field in a plane clectro-

magnctic wave is given by

B}_ =5x1077 .91'11(27: x10%¢ + ZTE‘C) tesla
Find (i) wavelength (ii) frequency. 1+1=2

Contd.



e RGFaT 3% GIH0e (BIEe CFaa AFEE e S7ae 3@ Pesle 249l
T 8 . 27 T 1041 FEAD @™ O (9 (BAF T
B_‘_.—5><10 .sm(Z;rxlO [+ 3 x) 0 s .W@ﬁﬁ@l@%ﬂﬁﬁﬁmﬂ

(i) O T (if) TR e <)

(d) Show that the mcan value jof a complél
G.C cycle is zero. '

nﬂﬁ%wﬁﬂa’aﬁmwmﬁﬁ ‘:‘f_-
|
|

wiitE 3 7. 4.
Or / 9931

An « particle is moving in a magnetic ficld

of (3§+2_;') tesla with in velocity of
(¢) Write down Einstein’s photo-clectll 5%10%Tms™ . What will be the magnetic
cquation and then explain the concept §
threshold [requency. B G|

PR SR ANl (@

force acting on the parlicle ? "2

o <l @i 5% 10% ms ™ sifeTaT (37 +27)

G2 3 FEI 2EfEs Tedarad ael 9 G 2Ed (BT o7g G@brs oS |
7l | : @3 g e S i | Ol A
e el

(/) The wire shown in the fig. carrics a currel
of 104. What is the magnitude of magnet

ficld induction at the centre O ? Given {i
radius of the bent coil is 3 cm.

|
| (g) Prove that ratio of the intensities at maxima
and minima is

y (- 2 a .

7'"-“"* = (iﬂ . wherc r = —L is the ratio
nin ?’ - ay

of amplitudes. 2

eislel A, THoN G fHO e A

I 2
Zmax =(——"+') ; I r=;’—"mﬁ®m
2

A Im:’n . e=l
26 IIS)
12T-PHYS-BENG(N) - 5 ' Contd.
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(]1) Draw block diagram of a gencralised

communication systcm. () Mention fwo limitations of Rutherford’s

8 FKIZE RIS 4a8/a 4e g sE ~ model of atom. )

‘ JVRTFICS D 2] TR (model) i
(i)  The angle of reflection for mono-chromati¢| Asamed Srad Tl |
X-rays from a crystal whose atomic spacin Or / &%l

Explain what is red shift and bluc shift of

X-rays. _
' light wave. 2
AN G IWF G 2-5A G AR {1 CATTE A1 T S A R S, I
TR “Fored (T AfSwETe e Wd) TR

15° 20 3 AR was o fefa | ,
. 3. (a) Using Gauss’s theorom find the field duc to

Or / G a charged thin spherical shell at a point
outside the shell. . 3

Express wavelength of matter wave 2 :
fe bk TR T4 2] R TS SRS (SIS
J2mEy G5 wAreel (AR & (e AR R

What do you mean by de-Broglie wave 28 e e CHEI T e Tt
1 1“‘
| Or / 91

o wial — 2 (matter) 9%
h

i J2miy

SR O 00 & @R ?

Find an expression for electric ficld at any
position on an axial line of an electric dipole.

G&f5 Tagfes U SRS CIRIAl G0
fRrre fge CFTa gt b Gl 3

22T-PI1YS-BENG (N) 6
2 T-PHYS-BENG (N) 7 Contd.
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(e)

Draw the circuit diagram of a common
emitter n—p n transistor as an amplifier.

Would you prefer to use a transistor as a
common basc or a common cmitter

CAIANRNRIcC wama anini asardinrans o

e 7 2l 4 %A Aot 16 e amplificr and why ? 2
e ' OfiBE (cmitter) FE&d n-p-n A LKA
(c) Establish Brewster’s L - lir Rt 5 o o3 w1 Rede
stablis s Law rcgardinj BAT AT ‘ &5, @R
polarisation of light by rcflection. - mﬂ mﬁjﬁ;; 4
. VIR RS RUER ?
AT 7 SR ANRGHD A G )
- FRIEE Al ARIE A | () What is magnifying power ofan aslrc_)nomical
@ A _ ' telescope ? Draw the necessary ray diagram
) condCIlsq of capacity 500p/” is charge for the final image at distinct vision by an
to a potential 1007. Find the charge on thi astronomical telescope. 1123
condenser and cnergy stored in it.  1+2=] 3 & o ol <
' TPTRICRRTE (GRTHICAR it S5 (AV)
500pF qeere 4w 9h 100V ) At 2 GBI CRCAITss 1 B-fRre
R S (charged) I AR | g s newl s e e o |
YR wfEame ¢ affre Afdee vy e ! . :
i e | Or / 9%
Or / 5} Draw a ray diagram to show the formation
State - S _ Ny of final image by a compound microscope.
incsllt:;t'Lcnlf § ,Lf‘W of ClCCEl‘()mag.nctt Find an cxpression for magnification of an
peion. istablish that Lenz’s Law is the image formed by a compound microscope.
manifestation of Law of conservation of 3 14-11%=3
- . 1 Qafe wEwTEe AR fre w93l
315% R ST (e T ot | g il ot <o | (TR SR CRe i AR
e wwerRlisTole 9 (A bt 90t 2 e e A @ e
XA |
| 22T-PHYS-BENG(N) 9 Contd.
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(g) Find the expression of [ringe-width S =

()

_of a- partu,lc as 4. 00260414)

RS )

for Young’s double slit interference pattern
where d is the scparation between the twg
coherent sources. 3

o few i = Tmew «Afrwm siffe zed
e SR (), sy, f= ’IC? @
(39 AN (A o 30 T2 gfox weam #At

Dcﬁnc mass defect and how it is related ".
binding eriergy ? Three a-parllclcs join i}
succession {o form (C'? nucleus in a sla
What amount of cnmgy 1s rclcased in ",

CAF P GR G H0 IHfE Frea e |
ferlt -l Eworeeg aeE TwE O

(¢C'* 9T 12u IR @[ ®A 40026041

Or / 93t

What is nuclear fission and nuclear fusion'
Name one moderator used in nucle

(@)

ARG Rorem G “Ainel R siecarem 2site
& @R iR R g9 gl
“TOIHGET W @020 |

What is the function of cladding in a typical
oplical fibre ?

Why are infrared waves preferred for
optical-fibre communication ? 21-1=3

ST FRA ARueiRa (cladding)wie
J 2

A FIZAED CHaTaiel TR S| R
AT (T AP (76T BT 2

For refraction at spherical surface establish
the following relation

Mom_m—n 5
vV o u R
ol 2§09 ARSI Gy v ﬂwr%varvm
o _m_my—ny
e vV oou R
Or /g3t .

State two diffcrences between interference
and dlffracllon For light of wavclength
A=6x10" n, it 18 found that in a thin {ilm

cananmec wase aninf axaiduiogs v

_ f air, 9 fringes occur between two points.
rcaction, 1+1+15 A, ] Esg
' Deduce the difference of film thickness
between these points. 213=5
22T-PHYS-BENG (N) 10
‘ I2T-PHYS-BENG (N) 11 Contd,




(b)

T IR TS S04 5wy (ralne ff
SIEIT A =6x10""m G OB 0 AR DA
(7l Co1FT (A 9D ~HIoeT! SRR (film) 7D
re 961 A (fringes) 73 =01 G2TWE

Find an expression for the magnetic ficld at points
on the axis of a circular current loop. ’
T 2RIZ FEA AqCF (A G
(IS (R eI @ Tl

Or / 99}

T@?‘ﬂﬁa fﬂtb-.:f Fi‘&'ﬁ:!'@ GikEe EI.F‘T: KETAc:
fritepa At O el TR 0 | @R s A
Toitx TRl @3 B (torque) W el <l
AarpifeTe Fed @alby  (TERw ang
(moment) fefa <t

(¢) Draw the circuit diagram of a full wave

rectifier.

Lxplain the principle of a photo diode with
necessary circuit diagram. 24-3=5
o o e @ T o st |
RIS 1SAiba STE I TOTOIAGS FRIMS
I A

- Or /9941

Explain the principle of Light emiiting diode
(LED) with proper symbolic representation.
State two advantages of LED over
incandcscent lamps. 3+2=5

S A5 BiG (LED) @at Sy b s
T PROAINS 1 )

oleMd &RTeR (lamp) $eFm LED9w 75
SfRar Ttad

TR+ N R

<i1uannis va=ace apnb aleidwod v

22T PIIYS-BENG (N) 1 221-PIIYS-BENG (N) 13 Contd,




The figures in the margin indicate full marks

5. Answer the following questions:  1x10=
fAufEiRe esafen Tea @mar

(@) Write the dimensional formula of Surfa

@)

2I-PIIYSBENG(N) 14
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(GROUP-B)

(For Old Course)
(TN ATFTH &)

tension.

AYBIa WA @l @

What Lype of spectrum is observed froj

the emitted light. of incandescent eclectt
lamp ?

Tegereld 2gfre (ayfes AlFg (A Fsfe zen
S < ef@ ol qE 2

“ What is the phase differcnce between the

waves, y = a Cos (wt+ kx) and

y' =aSin(wt +kx)?

y=aCos (wt+kx) GR y' = aSin(wt-+ kx)
oo oa Wit Atefay T 2

Calculate the efficiency of a Carnot’s engine
working between Steam point and Ice point.

AR B g “Bars-aq Wy fFame

(5 s ST et el |

The core of a transformer is laminated,
Why ?

i foeren eariE iRk #=l =7,
< 2 ' -

Name the clectromagnetic waves of
frequency range 1 GHz to 300 GIfz.

R TR SR SR 7HIEl 1 Gz (W
300 G/iz 20 AT AN LA |

J2T-PITYS-BENG (N) 15 i Contd.
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(g) Complete the cquation

()

(i) A wire loop formed by joining two semi
circular wires of radii 4 and 5, carrics d
constant current I as shown. Find the ng
magnctic ficld (B) at the cenire O.

221-PHYS-BENG (N) 16

AR 7ol et

235
92U 4 gn' =

How much cnergy is required to take
electron from the ground state to the firg
excited state ?

RFGITEA AFeE FeFueE nRfe . o
FEATY QAN BERGraa oI
E, =H1_3'2—6 eV. TEARGHLE AU W (

n '
22 Grefes B fire zta vopg *Ifed
ATAIEH 2

()

(@)

1/1-PHYS-BENG (N) 17

ﬂﬁ%ﬂfmﬁ@ﬁ"@?ﬂawnﬁmq 8
I 71 wdgemia o fmfbug enfs waufl
Cofd Tl 2R Ao W4y e 1 g eifge |
20 (T O -( BIEFTHEI GNib 2]y (B)

Aol et ,

S R 0 P

Complete the truth table for the logic circuit
shown below :

ey anffe “sfee” 6z o) - @D
Giial

e
) >

A rain drop of radius ‘#’ falls in air with a
terminal velocity v. What is the terminal

velocity of a rain drop of radius 2r? 2
v’ e 3 @it v akbln @l A
g frca Aevs e ~iet | 3@ 32 @ ivE
e 2 21 @Ibe 2fell (@9 9 =0 ¢

Contd.
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(b

(@)

Establish the Stoke’s law by using the
method of dimensions. :

I 2% AR FE COIETE A 27 <l
Or / 99t

(i) Define breaking stress.
PR ASHICAT ikl uie |

(i) Two wires are made up of same material
The length of the first wire is half tha
of the second wire and its diameler §
double that of the second wirc. If cqud
loads are applied on both wires, find tli

ratio of increase in their lengths.

D2 4IgF 7D O ARSI a9
Bial (Bral A1 267 | AU O O Tl
QIR SIa o i feer eitgw fand
i e dfas trrda srpirs fefa 30

Establish Bernoulli’s thcorem in the casc ol
flow of an ideal liquid on the basis of work
energy theorem.

TR*IE St fefere aamzam sl s
CRE ARG GANID Fi<TE I

)

22T-PHYS-BENG (N) 19

Or / gy

A piece of ice is floating in a vesscl
containing water and inside the icc is a
bubble of air. What will be the effect on the.
level of water, when the ice melts ?

A piece of pure gold of density 19,3 gem™
is suspected to be hollow inside. [t weighs
38.250g in air and 33.865g in watcr.

- Calculate the volume of the hollow portion

of the gold, if any. 142=3

GG 9T G ST MG G W SR
GR sl oo @3l aige wgm wm)
[EASH T I T wWe Aied S
TeifFeisl Wfta efea ol T 2

{rom Fefirez footg aolb o6 ©iee 90 v
41 2oz | Ffefba oTm Ao 38.2500 @R

| e 33.865¢. Tw Ffelba 9y 19,3 gom

A @12 St T 6l Ais oge skefe
e [ Sl |

State the [irst law of thermodynamics and
obtain from it the following relation for a
perfect gas

Cp - Cv =R 11+2=3

Contd,



(a)

22T-PITYS-BENG (N) 20

Sisife R 2as b el € @1
3{l <] airiCAR Sy o= ATFED (-

C,-C,=R

Two isothermal curves never intersect cacli
other, why ? .
Derive an expression for work done by @
gas in an adiabatic cxpansion. 13-4
o5 SR G4 U] AT (7 T A A
EoO e Tk b R AR e R B\ gt | G |
i e fefd Tt

Or / 941

(i) Explain how the Kirchhofl’s Law of
radiation helps to identify the clements

of the Sun’s atmosphere.

sy [fFad sjras fefars It
s AR Gleafe *Hre [Feia 9
oY A <Al

(ii)  Two bodics P and Q kept at temperatur s |
327°C and 127°C respectively are placed
in an evacuated enclosure maintained d
a temperaturc of 27°C. Comparc thell

rates of cooling.

P @2 O 76 <wa Tel 3@ 327°C
G2R 127°C 1 38 16 @b «[7) Bio| S
ol oot 314l zee | 2 sielba Swel
27°C 23 < Tva AeeEaceld 2 Ger
Al | -

(b)) Decduce Newton’s law of cooling from .

Stefan’s law of heat radiation. If the
temperaturc of a black body is increascd
from 300K to 900K, by what factor the

ratec of cmission will increase ? 3-+1=4
FowicE i R sjuad A Weoe
AR M0 AT Al |

(B FE @ Taeel 300K (AT 900K 1@
e <warte afbar iR 2= 3Tel ool g =i 2

Or / 9t

Why it is impossiblc to design a heat engine
with 100% cfficiency ?

The cfficiency of a Carnot engine is 1/6. IF
on reducing the temperature of the sink by
65°C, the efficiency becomes 1/3 ; find the
initial and final temperature between which
the cycle is working. 1+3=4

2 T-PHYS-BENG (N) 24, - Contd.



(a)

22T-PITYS-BENG(N) 22

100% FrFFo=g Gi7 3G e 4
G (51 7
G FIF G IS 1/6 19917 (<1008
Tt 65°C 0 3G 71 37 1/3 | 51
Al & dR[fET g & ufey Swem
T w07 vz el [da

What is doppler effect in sound ?

A rocket is moving at a speed of 220 ms
towards a stalionary target. While moving
it emits a sound wave of frequency 1000//2
Some of the sound reaching the target gefs

reflected back to the rocket as an ojzi
Calculate (i) the frequency of the sound wave

as detecled by a detector attatched to the
target and (7i) the frequency of the echo a§
detected by a detector attatched to the rocket

(Take speed of sound = 330 ms_l) ]-1-3=4

g TR T & 2 .

@l A% 220 ms™! AT W3- B ArEd

fite wranesg | ifoMe 9ts® 100042

FARITIT oo™ [N5fe ez | B o (AR

R dfaRe 2 g s |-

(i) TR AEA H RS qCF *
LIRS e war |

(i) THOT A *oRAEE g Afswfa
Ik Al Sl

(i @ot = 330 ms ')
Or / Y31

The following [igure shows two vibrating
modes of an air column. Find the ratio of
frequencies of the two modes.

Two air columns (resonance tube) 100 cm
and 101cm long give 17 beats in 20 seconds,
when each is sounding its fundamental mode.

Calculate the speed of sound. 2:12=4

Ao Bra vy i ' IR@ee S
TS WA CRRITAL 20 | S 1109 O
SR | AT TR B et fefn < |

v AgET (ST 1)~ W TAFE 100em
a3t 101em | B8 Wioa Tg@atels Jeres
Ffre 7 afs 20s-9 171 T Bedn 21|
i (@6 fefa st

T ><_
C XX

22T-PHYS-BENG(N) 23 Contd.



(b) What arc the two typces of stationary waves

Give an example of each. 1+1=4

FZ oI Ao B 1 ¢ el feicaa ool
FE TIRFl WS |

(i) Width of the slit is doubled

(iii) Screen is moved away from the plane

. - ol slits. L1 1=3
10. (a) State two conditions for sustaine( F-97 fa-aifey 2w fofars eres aaram
interference of light. SCIAEE A6 s50a (0 [ e ARSH
Txvo .idenlical cg-hcrcpt waves cach @ =T @Al 924
ntensity I, producing an interference pattern ) '
Find the value of the resultant intensity 4 (i) TREwErss g Y (G WA
a point of (ii) F-zcm R4 Red =
(1)  construclive interference (iii) TRATEA AT (A0 7 G (0T U |
(ii)  destructive interference. 1-+23 ' .
= : ' (b) Among the following waves which can be
TICETICRS R AT o 10 A polarised — sound waves, radio waves,
FCAIS 9B 1 PRI TAE ereba A1e X-rays, cathode rays ? Give rcason. 1+1=2
I @ (et @3 e <@ eﬂmq foz TfaRe (m swmefr eRe RS T —
(i) AT AACAA g | *[wrodH, (AIGUA o5, X-af, ez 2 =
(i) RN T @ 70 el el wfta
Or / 941 Or / 931
In. Young’s dnub.lc slit experiment, cxpla .'.' What do you mean by Polaroid ?
with reason, in cach case, how thi ) .
interference pattern changes, when Mention two uses of Polaroid.
(i) Separation between the slits i CAETREG WA [ @t 2
increased CPIIRIRCASS £/6 TR el |
22T-PHYS-BENG (N) 24 ' '
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I1.

22T-PHYS-BENG (N) 26 .

(a) State the principle of potentiometer. Draw {li

()

()  Derive an expression for the force paf

circuit diagram of potentiometer to comparg

the c.m.f’s of two given cells. 2+158
CATGARSRiBTas sRAfS S et il
(@A RSee e[ Saie [ o
TIZS (PGSR T641-fo wifat |

Either () and (i)  Or (iii) and (iv)
CEA e () GR (i) G (if) R ()

unit length between two infinifg
straight parallel conductors carryinj
current in the same direction and hengt

definc one ampere. 1
7T SEl M et ‘?if?ﬁfiﬁ
e A Ryjeeanes o 2ol
AfFR12la 995 i e sia Farie e
g el a1 @2 el cal
G IR FeE WS |

(if)  Write Biot-Savart’s Law in vector forn
An clectron revolves round the nucle 1 1f|
in a path of radius 51x107"';, atd
frequency of 6.8x 10" Itz.
Calculate the strength of magnetic field
at the centre of the path followed ,'_,-'-'
the clectron. 123

- (¥ii)

(iv)

|2T-PITYS-BENG (N) 27

RG-S qEw (939 Tl @Al @B
T 6.8x 101 Hz ¥ 51x10 ' m
I 2T “FF (Frwa B gae|
BCETGADT AT (FUREYLT Teow
COIFFrad eRETd i fWdfa s |

Deduce an expression for the torque
experienced by a rectangular coil carrying
current when placed in a magnetic field
with the normal to the surfacc of the coil
making an angle ‘@’ with the direction

ol magnetic field. 3

G35 2Epifee BTore Fua Jaw
GRS 79 T 20 | P TS
Y GFR GIEICHA Ca SRS (i
‘0 ZCH PRI eoF TFariE 5 S
fefa 3t |

A proton moves with a velocity of

5x10%7 ms™! through a uniform clectric

field 4x10%(2i +0.2j+0.1&) ™

and the uniform magnetic field of

02(1+02j+k) tesla. Calculate the

net force acting on the proton. 3

Contd,



qfB (A6 5 x 10°7 ms™ sifstats 3@
fRggerFa 4x10%(27 0.2 +0.1%) v~ @
< S G 0.2 i+ 027 +A]

GG T 9= 5 cenﬁmwf
%ﬂrfﬂa TG e T [y |

12.  The frequency of a.c is doubled. What will B
changes in

(i) Inductive reactance

(ii) Capacitive reaclance.
A circuit containing a 80 m/7 inductor, a 60
capacitor and a 154 resistor are connected 1
serics to a 230//50 Hz supply. Calculate the

avecrage power {ransformed to cach clement @
the circuit and total power absorbed. 1+3=

ARSI 2ZF TN WA e =
(i) Stk dfeard 4]

(i) AFI ofSAUR B wAfisa 71 ¢
80 mH FF 60l 4T GIR GFh 1502 @1 |
641 2307750 Hz BHA A (AT AL,

=9l 7o | Fealbd Afeld s weireFe geat wae)
ST G *MifES e @i wFwer SN [ 5l

22T-PHYS-BENG (N) 28

Or / 41

A capacitor of 60uF is connected to a 110V/
60Fz-a.c supply. Determine the rms value of
current in the circuit. Also determine the average
power absorbed by the circuit in a complete cycle.

242=4
G 60uF 417 110V/60Hz “IF<SY erivas Semm
Htﬁﬁmﬂwmmﬁﬁmmfi—@ﬂﬁa@m
oIG ATofq I5FFER = Fefar et | 57ejef b A
809 516 Feiq s [ef@ Tt

Describe J.J. Thomson’s method for
determining the ¢/m of an clectron. 4

(. (&, A3 F2ilfe BFRGAR e/m el i
AR ool ol weat|

Or / 917

13. (a)

What do you mean by matter waves ? Show
that de Broglie wavelength associated with

an electron of K.I, E 1s 1+3=4
h
A=
- A2mE
22T-PHYS-BENG (N) 29 . Contd.
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()

((C"? -ga % = 12u GR

el Gz IS T QAR 2 GFO BETRGIAR
Wfexfe £ 201 (reie (@ Gy e afds

& qufei wasmda I
1= h
2mE

Define mass defect and how it is related to
binding cncrgy ?
Three @ -particles join in succession to fo

ﬁC'2 nucleus in a star. What amount o
cnergy is relcased in this reaction 7 (Tak
mass of l,)Clz as 12u and mass of o -particl
as 4.002604u) [-+2=3

wa@bd 7@ ule | qElEd st @l TAE ) ¢
T ol o -l PHINOSITE AIETHT
¢ C'? 797 7% 2 | 9% AT T
“Ifeq Tea = fsfa Tt

o PR © = 4.002604u )
Or / &3

(i)  Write fwo common moderators usc

in nuclear reactors. I-+1+1=3

e fensbasfre gaze
AR TOCIOCRS A T |

(¢

4. (a)

(if) How is energy continuously produced
in the Sun ?

3 SreaE e el wikes Seriire
27 ?

(iii) How arc f-particles emitted from the
nucleus ?

ﬁ@@aﬁrﬁr,&@i%ﬂmﬁeﬁﬂ ?

Describe with diagram a coolidge-tube for

production of X-rays. - 3
ajﬁi@w%ﬁwxaﬁwaﬂﬂﬂ%ﬁ AR
gefal |

Or / 999

1 g of radioactive substance disinicgrates at

the rate of 3.7x10's™!. The atomic weight
of the substance is 226 u. Calculate its mean-
life.

g “ffq coufip =it coafER [abea
7@ 3.7%x 10" 57!, omieffog wramiafRia ©g 226 u
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Draw the circuit diagram of a full-wave
rectificr.

How output can be smoothed after
rectification ? 2+1=3
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(b) Answer any two of the following : 2x2=4)
54 @I 7o ©Ed wis

(i)  Briefly describe the construction and
working ol a typical p— junction Solé
cell.

G35 pon GO GG 5107
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" (ii) Draw the block diagram of a radif
recciver circuit.

G35 @foe aisgacga 4o oa o 3

(iii) The first member of the Balmer Secriel
ol a Hydrogen &.pcct:um has

Al |
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